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PHIHGECOI TIPHIGCOROI T-PHILOSOPHY (GEIIDSCl)

LOGIC

Time Allotted: 2 Hours Full Marks: 50

Thefigures in the margin indicate full marks. ~ ~ 'IT~ ~~ ~ ~ <f573fI
Candidates should answer in their own words ~o/Rn ~ rsrom 7fo/f ~ "lwiil¥M 'ITC{J

and adhere to the word limit as practicable. m ~ I

All symbols are of usual significance.

l.

Question No.1 and 2 compulsorily and any two from the rest
~~, I!l~~ ~ ~~ ~ '6IH~ I!l~~ ~ ~ ~ c<r-~ ~ ~ ~ lft'e

Answer any ten questions from the following:
H~fdl~\!)c<T-~ ~ ~ ~~P1tl(3g

2xlO = 20

(a) What is meant by proposition?
~~~c<WIIm?

(b) On the basis of quantity, how many types of categorical propositions are there and
what are they?
~'t ~1}jIC~~~ ~ <p\5 ~ 1(3 ~ ~ ?

(c) What is quality of proposition?
~~'t~~?

(d) Transform into logical form:
~R~I~Ji"'ll\!) ~ ~~ <ffiffg

Very few politicians are honest.
~ ~ '?111Si~f(!,Rq~ ~~ I

(e) Determine the truth value of (- p :::::> q) v p when p is true.
p ~ ~ (- p :::> q) v p -1!l'?1 Ji\!)J~G1JF!~<ffiff I

(f) Determine which term of the following proposition is distributed:
~ ~ c:<IlR 9fI1 <ut9fJ \!it F!~<ffiffg

Only Children are applicants.
r:<P<1&j~t<£lfi'l~m~~ I

(g) I proposition distributes none of its subject term or its predicate term - Mention
whether it is true or false.
I ~ 'i5Rf ~ 1(3 ~~ c:<IlR ~ <ut9fJ ~ ~ - ~ ~ ffl'~ ~~ <ffiff I

(h) Mention the propositions that are opposed to the following proposition:
HC~~ ~ mmm ~M ~ <ffiffg

Honest men are generally happy.
~~~~~9\5~~~1
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(i) What is material obversion?
<ffl'i'j\3 ~ ~ <fCC1?

G) What is the difference between opposite term and contradictory term?
-Ft. ~ -e ~ ~ ~~ 9fl~~.?

(k) Fill in the blanks: i'

The subject term of the conversant will be the of converse.
~~9<Hmg
\5(F<t\!)~C~~ ~~ \!lll"1f\5C~~ ~ I

(I) What is meant by Mood of a Syllogism?
-;urn \!ll~fC01 ~ ~ ~ ~ ?

(m) What is rule of validity of conversion?
\5l1"1\£'C"1~t<f~ 1'f~~ ~ ~ ?

(n) Represent the statement 'Ghost Exists' by Venn Diagram.
'~ ~' -l145Jfflc<P C'5"1f5CJl ~ <Hm I

(0) When an implicative sentence becomes false?
l.£l~~~<f)~~~~?

(P) Ifp is true and q is false, then what will be the truth value of 'p ==~ q'?
p~ l.£l~~q ~~~ 'p ==~q'-l.£l~ >j~~'1J~~?

(q) Show the symbolized form of Mill's method of agreement.
~ ~ ~ 1'fl~~ \!lll<Pt~tG~ I

(r) Use truth-table to define the disjunction' v'.
>j~J>j~'fuf ~ C<145m45'v '-l.£l~1'f~~ -qN I

(s) What is the denial of a tautological statement?
l.£l~ ~g~ ~ fu~~ ~ <w.l 9fl-em <m:<f ?

(t) Give the definition ofMiJI's method of agreement and difference.
~ ~ "1Jfi?>CS1~ ~ 1'f~~ 'fI-e I

2. Write short notes on any two of the following: 5x2 = 10
~c<T-~ ~ -e~1'f~N~~~g

(a) Is conversion by limitation of A proposition valid? Give arguments in favour of
your answer.
A ~~~~t<f~? ~1'f~~'fI-e1

(b) Rules of obversion
M"1-6C"1S1PI~~1"1a4'l

(c) What is the relation between truth and validity?
~-e0q~~~~~?

(d) Opposition of Proposition
~futf~1

3. Test the validity of the following categorical syllogism or syllogistic forms 5x2 = 10
(any two): [Do not use Venn Diagram]
~~~-;urn11"1Jt~1451S1~m0q~~<Hmg (c<T-~ ~ [~~
~ <m:<fonl]

(a) EAE-2
(b) OAO-l
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(c) All that glitters are not gold, this tinsel glitters; therefore this tinsel is not gold.
<rr ~ <rof ~ ~ om, l!l~ ~ 9fl"i3fG ~ ; ~~ l!lfG ~ om I

(d) AAA-3.

4. Use truth-table to determine whether the following statement forms are
tautologous, self-contradictory or contingent: (any two)
~ <1t)"11<l$1'Sl~far~~~, ~gf1T~ 'it \5It~ ~ >j~Pi1'Sl9rn ~ frf~ ~g
(~-~~

(a) (p~q):J(qv-p)

(b) (p. q) ::) (p ==q)
(c) [p . (p v r)] ==[(p v q) . (p v r)]

(d) (p ~ p) ::) - P

5. Test the validity of the following with the help of truth-table: (any two)
>j~pn'Sl9rn~~~frf~~g (~-~ ~

(a) p::) q
:. - q ~ - p

(b) A ~ B
B::)-A
:.-B v-A

(c) (p ==q) v r
-r

~()

,

~ E8td.-1947~-'0 ~.~:. - (p ==q)
(d) P v- q

p
:. p » q

6. Explain critically Mill's method of difference.
~ <1JN5~~ ~~~~I

--x--
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